Position vs. Percent of 07 ARQs 2015-04-11

T
000 o
OoooQoOOoO0000O0
000 o ooooopopo0O0O0O
O0O0ODOD ] OoooO0O0
(o) o] ()¢ OO0OODDOOOOOOO
(Xe) 00000000 0000000000000
O O 00 ooooo 0o
0000
oc0o
(@)} o o oo0o
cC O00000000000O0 900000000000 000000 ooo
—— 0000 000000 0000000000000 DOB0OO [ -} oo
c 0000000000000 0000 00000000000 @0OO00O O oo o
+J Oo0OO 0000000000000 000000000 ®O0o0oODODO
- |O00O0O00D00D000000000 0000000000000 co0o®@0O0OT 00O 0D
O 0000000000000 000 00000 000 OOcnoonoO
= o (oK) O oo o O 0000 o oo
o o 00000000 0O0O0O0OO0ODODO0OOGDO oODOD
000000000000 0O00O0OO0OO0OOOOOOOO [eXe]
00000 000000000 0O0Oo0o (o) ooano
0000000000000 000000000000O0 OOoooooOoao
0009000 00000000 (oXe] o oo
0000000 000000000 (eXe] O0Oo0DODDO
0000000000000 000O0DOOO0OODODOOOOOOO0ODOO
[e] o o0 00O 000 00O
[oXe) 00000 00O 000
00000000000000000000O0O0OO0O0OO
OO0amo 0000000 0O0O0o
000000000000 000000 [ )e]
00O 0ooo 00O o000
000000 Oo@®@000000000ODODOOO
o000 oDoon (e)¢] 0000000
0000 oo oo 00O
[e Xl == )] OQoonoO0O0O0O0O0OO0OOOOCOO
DoooDDODODD oDooODo [¢}
oo DopooboonoOD oo
ODooDoDDoODDODODOD
Qooooon DooQoDDOO
] ] ] ] ] ] ]
440000 450000 460000 470000 480000 490000 500000

510000

2.0

1.8

1.6

1.4

1.2

1.0

0.8

0.6

0.4

0.2

0.0

log10(ARQ)

BSUs
11 s 37
No ARQs « No ARQs
12 s 32
No ARQs = No ARQs
13 e 33
No ARQs = No ARQs
14 o 34
No ARQs = No ARQs
15 e 35
No ARQs = No ARQs
16 s 36
No ARQs = No ARQs
21 e 41
No ARQs = No ARQs
22 e 42
No ARQs = No ARQs
23 e 43
No ARQs » No ARQs
24 o 44
No ARQs = No ARQs
25 e 45
No ARQs e 46
26 s No ARQs
No ARQs o 47
27 = No ARQs
No ARQs e 48
28 e No data
No ARQs e—o 2015-04



